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Cluster: 0013 ptr; resid: 0.38; r/c: 25/36

x.range

upstream meme PSSM #1; e=1.6e−06

1 3 5 7 9 11 131 3 5 7 9 11 13
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upstream meme PSSM #2; e=5.2e+03

1 6 11 161 6 11 161 6 11 161 6 11 161 6 11 16

● ●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

12243 13078

22353

2527

29042

29793

31322

33304

33535

35862

36381

39074

39656

41349 42708

44479

44658

45794

47823

47844

47894

48888

49109

52110

55087

−500 −400 −300 −200 −100 −1
29042−0.08
22353−0.12
49109−0.36
45794−0.49
52110−0.66
44658−1.08
47894−1.52
44479−1.78

2527−1.79
47823−1.87
29793−1.89
33304−2.00
39074−2.01
42708−2.18
48888−3.55
31322−3.93
55087−4.04
41349−4.10
13078−5.29
36381−5.92
33535−6.36
47844−6.88
39656−7.05
12243−7.27
35862−8.69

log10(P) upstream meme1 2 log10(P.clust)=−3.24; 25 seqs; 25 uniq
c(0.5, 2.5)

15
 M

ar
 2

0 
20

:5
3:

47
 it

er
=

20
01

cM
on

ke
y 

V
er

si
on

 4
.9

.1
1 

pt
r


